Exemples:

1.

On a la décomposition en produit de facteurs pre-
miers:

54 = 2x3?
On a la simplification :

VB4 = /2x33 = 1/32x2x3 = /32x1/6 = 31/6
VBx/T5 = /6xT5 = \/2x37x52 = 1/ (3x5)*x2
= /152x+/2 = 151/2
V2T +2/3 = \/32x3+21/3 = 3/3+ 21/3 = 5./3
V2(5+v2) =5v2+ (v2)" =2+ 52
3+ v/5)" =32+ 2x3x/5 + (v/5)”

=9+6y5+5=14+6y5+5
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54 = 2x33
On a la simplification :

VB4 = /2x3% = 1/32x2x3 = /32x1/6 = 31/6
V6x1/T5 = 1/6x75 = /2x32x52 = 1/ (3x5)*x2
= /152x+/2 = 151/2
V27T +2y/3=1/32x3+2/3=3/3+2/3=53
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Exemples:

1.

On a la décomposition en produit de facteurs pre-
miers:

54 = 2x33
On a la simplification :

VB4 = /2x33 = /32x2x3 = /32x1/6 = 31/6
V6x/T5 = /6x75 = /2x32x52 =
= /152x+/2 = 151/2
V27 +2/3=/32x3+2/3=3\/3+2/3=53
V2(5+v2) =5v2+ (V2)" =2+5/2
(34 v5) =32+ 2x3x/5 + (V5)’

=9+6y5+5=14+6y5+5

(3x5)°x2

2. /6x/75 = V/6x75 = /2x32x5% = 1/ (3x5)° x2
= /152x+/2 = 15\/2
3. V27423 =1/32x34+2/3=3V3+2/3=53
4 V25+/2)=5v2+(V2) =2+5/2
5. (3+/5)° =32+2x3xv/5+ (v5)°
=9+6y5+5=14+6y5+5
Exemples:
1. On a la décomposition en produit de facteurs pre-
miers:
54 = 2x33
On a la simplification :
V54 = 1/2x3% = 1/32x2x3 = /32x/6 = 31/6
2. /6x\/T5 = \/6x75 = \/2x32x5% = 1/ (3x5)° x2
=/152x+/2 = 151/2
3. V27423 =1/32x3+2/3=33+2/3=53
4 V2(5+2) =52+ (vV2)  =2+5V2
5. (3+/5)7=32+2x3x5+ (V5)°
=9+6y/5+5=14+65+5
Exemples:
1. On a la décomposition en produit de facteurs pre-
miers:
54 = 2x33
On a la simplification :
VB4 = /2x33 = /32x2x3 = /32x1/6 = 31/6
2. /6x1/75 = /6x75 = \/2x32x5% = / (3x5)*x2
= /152x+/2 = 151/2
3. V27+2¢/3=1/32x34+2V3=3V3+2/3=53
4. \V2(5+/2) =5v2+ (v/2)" =2+5/2
5. (3+15)7=32+2x3x5+ (v/5)°

=9+65+5=14+6+y5+5

https: //chingatome.fr BEA



https://creativecommons.org/licenses/by-nc/4.0/deed.fr

